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() T
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9. ‘TeM I N W gw Re THR IFNT HW B ?

(2) 7§ Frsa1 (b) STHFHATIER
Ac) G (d) ateran |

10. gﬁﬁaﬁma&qmﬁﬁﬁwm%?
(a) P31 @& fyvamg
AB) ITEE AN femm =
(c) WTST <Y
(d) ST

11, a8 S € % am e B, w9 IEe wf B
1 Yo H & Fi

(a) 3 B G § FgI1 TEA @
~ (b) GEU I BT =R
(c) &n fe@ran e = @

(d) wTEvE 3R e g S A I
& TR

12. Pt wedl 3 Jomefe TR 2
(a) For@m (b) f
(c) =& Ad) FeEm

13. Wﬁwwﬁggquﬂﬁgaﬂ% ?
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(a) Tl (b) =m
(c) e /(d) 7=

17. Te=fafea § aeay weg R

(2) 34 Ok
(c) 3 (d)

18. sad ¥ ‘Fre = afu-Teae &
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(c) ERICARL (d) T
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Instruction for the Question Nos. 21 to 25
Read the following passage carefully and answer the

following questions that follow :

Since modern industrial society is highly organized.
if there is a strike in a vital industry, the whole
community suffers. [ am not arguing that, the right to
strike should be abolished. I am only arguing that, if
itis to be preserved, it must be for reasons concerned
with this particular matter, and not an general grounds
of personal liberty. In a highly organized country there
are many activities which are important to everybody

and without which there would be widespread

hardship.

21. Inthe light of the passage, if there is a strike in

a soap factory, it may be viewed as
(a) a thing not likely to happen
(b)/a serious matter

(c) a matter of deep concern

(d) not a serious matter

22, /A strike is generally regarded as
(a) a gross violation of rules
(b) an act of indiscipline

(c) an expression of individual freedom

(d) an undemocratic act

PCUX-2-22 o

ACCO

23
' » ~ b
following best express the industrial society 7

(a) In an industrial society power is

concentrated in the hands of few
(b) In an industrial society the individual

members is not important

(c/{n an industrial society members are
dependent on each other

(d) Industrial society is blind to the needs of

its members

24. The phrase ‘this particular matter’ refers to

\Qjﬂhe fact that industrial society is highly

organized

%c suffering of the strikes

(c) the interests of the factory owners

(d) the unity of strikers

25. The author is of the opinion that
(a) strikes may be there in the interest of the

general good
(b) all strikes are bad
(c) strikes should always be encouraged

\(/@fstrikes should be suppressed by all

means

-4-

rding to the author which one of the 26, Som

way
{a)
(b
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26. Someone “strange or unusual in an amusing

way”, is known as
(a) Zit
(b) Zany

/(a) Zap

(d) Zombie

27. Which of the following is the meaning of the

idiom ‘salt of the earth’ ?

(a) a very good and honest person
(b) a useless person

(c) a selfish person

(d) a dry person

28. Fill in the blanks with appropriate prepositions :

He is junior me service.
(a) to, in
(b) then, in

(c) than, in
(d). to, by
N

29. Which of the following is wrongly spelt ?
(a) accelerate
\}b} absces
(c) accede

(d) accessory

£

PCUX-2-22

30. What is appropriate meaning of the idiom

‘Do not always pick holes’ ? Find out the

correct answer from following options.
(a) Pick up a quarrel

(b) Keep quiet

(c) Criticize

(@) Dig holes,~

31. Fillin the blank in the following sentence with
appropriate conjunction :
She must weep, she will die.

(a) or

(b) because

}ﬁ) and

(d) but

32 Point out the synonym of DILAPIDATED.
(a) weak
(b) ruined
(c) broken

(d) lowered down
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33, Four pairs of numbers are given of which three
are alike and one is different, Find the one
which is different.

(@) 9, 243
(M 7,108
fc) 5,75
(d) 11, 363

34, Which of the following is NOT a stage of
creative process in decision making ?

(2) Ilumination
(b) Preparation
(c) Verification

(d) Identification of proposition

35. Find the missing letter from the following.

B: i <G N
D|[J|R
G L
(@) W (b) X
) U @ Vv

36. Pand Q are in the ratio 5 : 6 and difference of
their squares is 99. The value of P is
(a) 15 (b) 45
(c) 18 (d) 22

37. Which of the following is NOT a widely

recognised and accepted style of interpersonal
communication ?

(a) Persuasion

(b) Assertiveness

(c) Aggression

(d) Manipulativeness

5

Ty
PCUX-Z-)%
33, '&i@ﬂﬂ%‘imgmfiqrr&ﬁmﬁ?ﬁawmgz
ol e e & | e g ) wa AR |
(a) 9,243
/rb) 7, 108
(c) 5,75
(d) 11,363

20, fuka 9 3 Frefafad § 8 2w v S
i 1 = T 2 7

(a) wGIA
(b) aardt
(c) 994

yﬁmﬁqﬁﬂ

35. frafafea # @ g9 e 7 Hifw

B |G| N

D 3 R

G| N ?
(a) W () X
() U

(cy\’

36. PAAQ,5:6% U ¥ ¥ ot 37% ol %
<R 99 B, 1 P &1 UH
(a) 15 (b) 45
(c) 18 (d) 22

37. Ffafed § ¥ S-d wrefe gar § =we
TR R 3w et T R ?
(a) g
(b) g
POE
(d) wewH
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38. What is the main characteristics of Delphi

Technigue for group decision making ?
(a) Written communication

(d) Alternative communication

(¢) Face-to-Face communication

(d) Verbal communication

If *‘GOLD’ is expressed as ‘HOME’ in a code
word and ‘SONS’ is expressed as ‘TOOT’ in
a code word, then ‘CORD’ can be expressed
in code word as

(a) TONT

(b) TOOS

€y TOPT

(d) DOSE

Individuals receiving the message ask
themselves the basic question.

I: Is the person giving the message trustworthy
and sincere ?
II : Does the source know anything about the

subject ?
Using the codes given below choose the correct
alternative.

(a) Both I and II are relevant
(b) Only II is relevant

(c) Only Iis relevant

(d) Neither I nor I is relevant

If 12345671586 stands for TERMINATION,

which number does 671586 stand for ?
(a) NATION
(b) RATION
(c) NOTION

(d) MOTION

PCUX-2-22

38, wqe foty a3 & 26 awdfe € g faiea

R 7

(a) ferfiae s

(b) famwey wan
Ac) AR -amy I
(d) mfsees den

39. afe ‘GOLD’ # %2 WM § ‘HOME' # wzfifa

T e 2, Ud ‘SONS’ 1 %2 9t § “TOOT
Q weftfa fan wmen 2, @ 'CORD’ %1 %2 s &
¥ fored wehfa fpmn o g%a1 2 7

(a) TONT

(b) TOOS

(c) TOPT

’y.) DOSE

40. TN W HW AT SAfa W § 0F 9 184 ¢ |

IWﬁﬁmé@%,ﬁmﬁaﬁ'{

R B ?
II : 0 € fawg & < ¥ T8 SHar @ ?
F2 Ru v THdl 1 ITEN T TE GEHey =

A HIWT |

PORERELS B
(b) aet 11 wrefireh 2

(c) et 1 i &

(d) 78 I 3t 7 11 wefies 2

41, af 12345671586 %1 31f TERMINATION %,

@ T 671586 H1 31 w0 AW ?
() NATION

(b) RATION

(c) NOTION

(d) MOTION
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42, 25 letters of English alphabet are arranged

below

| ATt SIS U ™
QA . .1
] Z A -l -
S PR 1 K Q
N-W G ; I 4

If all the letters were to be arranged
alphabetically, which letter would NOT change
its position ?

(@) X

®d) W

(c) U

@@y

The median of the first 10 prime numbers is
{a) 13.5
(b) 12.0
) 110
(d) 129

According to ‘rational decision making model’,
last step is

(a) Identification of alternative

(b) Selection of alternative

(c) Selection of the best alternative
(d) Evaluation of alternative

45. If131x +217y =827 and 217x + 131y =913,

then what are values of x and y respectively ?
(a) Sand7

(b) 2and 5

(c) 3and 2

(d) None of the above

| W 55 T .E.‘:-

42, ;damwﬂmz-n%zsmi#a st § . i
¥y £ F U M ; W
oo K88 p
I oo I E
g L Dok R
N W G T X
afe @t auil 1 avtErE & sgan vt fon
m,ﬁfﬂmaﬁﬁfiﬂﬁ:‘gm?

(a) X
(b) W
() U
d Y

43. wum 10 3T GEAIH! H A 2
(a) 13.5 47.
(b) 12.0
(c) 11.0
d) 12.9

48

44. i i & 3 e 3 o SR < &

(a) Taehew &I vg=H

(b) fowew =1 ="

/ (c) waiem fases 1 = 4
(d) forpea 1 g

45. afe 131x +217y =827 217x + 131y =913,
WA XTH y F WA FAN TR 7
(@) S 7
(b) 2w 5
(©) 3 2

(d) I | W T
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47.

48.

49,

&

46. Which option is/are to be followed ?
Statement : Money is a huge motivator,
Conclusion : 1. People get motivated only

when they expect to get some
money for doing or behaving
in a certain way.

2. There are some factors
other than money which also
motivates people.

Codes :
(a) Both 1 and 2 follow
(b) Only 2 follows

(c) Only 1 follows
(d) Neither 1 nor 2 follows

Choose the odd one from the given options.
(a) LP 28 (b) GI 17
(c) CE7 d) AZ27

What percentage of message is perceived
non-verbally ?

(a) 50%
(c) 30%

(b) 55%
(d) 40%

You are a Police Officer, your duty is assigned

at the State fair. Which of the following

situation do you handle first ?

(a) The ferris wheel is stuck in midair with
people still on it

(b) A dumpster next to the main tent
pavallion is on fire

(c) There is crowd forming around two
unarmed teenagers ongoing with arguments

(d) A man obviously drunk has passed out
and lying by the ticket booth

.

PCUX-2~22
46. form feebey w1 g e s 274
A ¢ YA T g 491 AT R |
fremd: 1. i ef 3@ B8 @ 7w o Afew

alih & F W =R = F o
5% ¥1 9 hi Il e § )

2. yq & remEn ft F5 U w2 S
S U @ E )

e
/é)a‘ﬁ‘ima'zagaﬂa‘aﬁé
(b) et 2 Irgafa g

(c) e 1 srgafa € &

(d) I 1 7§ 2 gl & 2

47. fou e fasredt # @ fawm giiw |
/@) LP28 (b) GJ 17
(c) CE7 (d) AZ27

48. @ew w1 foha wiowa srnfes &9 & weaafiga

RS ® ?
(a) 50% @) 55%
(c) 30% (d) 40%

49. 9 T Yform FAferi €, 39 U5 A W dAE
fru e § | 319 freferfiga 3§ @ vee g afdfeufa

I HITH ?
) =il g o A 43 A I
wed U1, 72 T
(b) G4 T TR & T T FR & god
ot @
(©) & Frare odh-foreh # @ fohuiid &
e~ g I & T R
(d) T T = g st W 3 fwe
Ragshl & 9| 9T A
9.
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1.

. Statement :

Which of the following is NOT a barrier of
effective communication ?

(@) Colour

(®) Language

(¢) Noise

(d) Culture

Which of the following is NOT characteristics
of problem situation ?

(a) Organization of problem situation
(b) Complexity of solution

(c) Size of the problem

(d) Similarity of the problem

. The process of listening consists of

(a) 6 stages
(b) 5 stages
(c) 4 stages
(d) 7 stages

Some rats are cats.
Some cats are dogs.
No dog is cow.
Conclusion : I. No cow is cat.

II. No dog is rat.

III. Some cats are rats.

Choose correct option :
(a) only III follows
(b) only II and III follow
(c) only I and II follow
(d) L, 1L, III follow

PCux.,_,

50, freferfed i @ eA- e -
a8
(a) T

51, et § 3 FH W ) g
fordroen T & 7
(b)-gmqﬁﬁm
(c) | Al SRR
(d) W ! FHT

9

52. g i s # ffea g &

(a) 6= @
(b) 5= @
(c) 4=t

(d) 7 =T

53. wum: wo g fafeemi 2 )

o fufeerml 52 €

I e T T R

L i T fooeh 78 24
IL. <hr$ e <g1 1 2 4
1. @‘s}ﬁ%ﬁﬁq\%%\]/
o R g
OEESRIEE

(b) et 11 qen I &t &

(c) aa [ aun [1d 3

(d) A, 11, 111 et &

\

fremet «

5

= 4



(a) 20
(c) 18

(by 19
(d) 21

8 is related to 81 and 27 is related to 256 1n the
same way as 64 related 10

(a) 525 (b) 425
(c) 225 (d) 625

Going 50 m 1o South of her house Radhiks tumns
left and goes to another 20 m. Then, turming 1o
the North, she goes 30 m and then start walking
to her house. In which direction 15 she walking

now 7

{a) South-West
(b) North
(¢) North-West

(d) East

Which of the following 15 an example of dress

code communication 7
(2) Wnitten

{b) Non-verbal

{¢) Spoken

{d) Verbal

- 22

w B
54.

by
55.
56.
57.

-

s 2

56,

P

=
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(a) 20
(c) 18

(b) 19
@ 21

8. 81 % 7@ 27, 256 ¥ If YHW Fdfa 2 R
WET 64 Hafug 2
(a) 525

(c) 225

(b) 425
(d) 625

ofs e o A e 6w 50 f. aad R,
faa and gz 201, a=d R | 6% AR IWM B
wgwd 30 . waf R o @l 8 sE A an
af v aefen fomAaa W@ R 7

/(;n it - ufyam

{hy Im
(¢) T -ufvay

dd;*w:d

faferfys & 8 9-w vE 30 8T g W
e R 7

(a) fafga

(by wwnfeze

(c) &4 =3 A

(d) Mg

U na el



58. Which of the following is NOT related with
the characteristics of problem solver ?
(a) Past experience and practice
(b) Set variables

(c) Motivational factors

(d) Generality of solution steps

59. What type of communication is a press
release ?

(a) Public

(b) Intrapersonal
(c) Interpersonal
(d) None of these

60. Identify the missing term from the following

options for the given series.

AND, COF, FPLLIQM,
(a) ORR (b) PRT
(c) QRS (d) ORS

61. The fifth letter of the letter sequence
R R AP is

(a) K (b) L
(c) 1 (d) ]

62. Find median for the following data :

Class
Interval

20 - 30| 30 -40 |40-50

42 25 58 40

-

Frequency

ke semes

(a) 32 67

(b) 36.6
(c) 385

(d) 34.56

-12-
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58. frafafeaa d @ $H-91 w @@ gnyR 5
aret <1 fersivanedi @ daftm w@i & o

/a)@ﬂammhm
(b) femma =1
(c) AT FRh
(d) FH1YM o gl hl FmE=

59. 3 fomfer form Wb 1 @=m 2 7
(a) FTEI®
(b) 3= Fafdas
(c) FA~adafdas
(d) 78 & 1§ 7@

60. fau mu s@en % forg Frafelea femredi 4 @ gw
w2 & ggar $HIf |

AND, COF, FPI, JQM,

(a) ORR (b) PRT

(c) QRS (d) ORS
.

61. @l FE Y, W, T,P,..... o1 feal &of 2

(a) K }b) L
()1 (d) J
2. Frfan st o wifoen A
atate | 0-20 | 20-30{30-40]40-50 j
aaf | o | s | | @ g
(a) 32.67 ]
(b) 36.6
(c) 38.5
(d) 34.56

Rbte s it T AT e s NS A e



63.

65.

66.

‘Do vou like working P This question 1§ an

example of

(2) Positive question
(0 Close question
{¢) Open question

(d) Negative question

From the following equations x>+ y2 =41
and x" - }'4 = 369 the value of x and y will be
respectively

(@) £4,%3

(b) £4,£5

(¢) £35,%4

(d) £3,x4

Which one of the following context refers to
the relationship between the sender and the

receiver ?

(a) Social

(b) Physical

(c) Chronological
(d) Cultural

Find the missing number from the following
alternatives.

91| g4 | 3B
| 14 | 12
3 ? 4
77 | 112 | 108

L8 6

(b) 4

(c) 2

) 3

63,
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64.

65.

PCUX-2 - 22

e —— . A R kR 2

/(a) IS T4
(b) 98 994

(c) @en 9
(d) “s1UeHs g9

Frferfaa adao x2+y2341t{”€i x“-—y":%‘})
% x ud y 1 AR HEE: A

(a) £4,=3

h) 4. %5

(C)'45,£4

(d) £3,+4

e @ F-a v TeY e 3R Sl
¥ ot gy F cuiar & ?

(a) TS

(b) witferh

(c) HTATIhITH

(d) wiepferss

66, TreifiRaa Rreredl § ¥ I §&1 T HINT |

21 | 24 | 36
u | 1 | 12
3 9 4
77 | 112 | 108
A8 6
(b) 4
).
@ 3



67. Read the following statements and select the

correct answer.

Statement 1 : Communication is irreversible.
Statement 2 : Communication is constant.
(2) Both the statements 1 and 2 are true

(b) Only Statement 2 is true

(¢) Only Statement 1 is true
(d) Neither of the statement is true

68. IfI=18, M =26 and COME = 72, then value

of GO is
(a) 72
(b) 40
(c) 38
(d) 44

69. The tendency to have more confidence in

Judgements and decisions than we should, is
called

(a) Self-confidence
(b) Over confidence
(c) Confidence

(d) None of these

70. 'Which statement is NOT correct ?
(a) Every square is a rhombus.
(b) Every rhombus is a parallelogram.
(¢) Every rectangle is a parallelogram.

(d) Every rhombus is a square.

-
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714 B
Hifr | i r

wor 1 : e e 2 | o
w2 : Han fer @ ) |
(a) 3t wuA 13 28 &
(b) Fae oA 294 8
(c) et U 1 8 &
(d) A & ré w T

67.ﬁﬁﬁmmﬁmmﬁmm% :

72

68. afe I=18, M =26T COME=72%, & GO
HAA B
(a) 72

(b) 40 ’
/é 38 ‘
) t

1

(d) 44

69. fimfa %1 smera o Frofalt ¥ wfe sreEEam A
e ImTEE |14, HEed
/@)mﬁm
(b) faferam
(c) forzama
(&) T & 9

70. aﬁq-mmmqgg?
(a)maﬁmaqa@qg|
(b) FeH T o R w2 |
(€) ¥ % 3w o w2 |
(d) O T it 2
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74.

Perimeter of a triangular ficld is $40 meter. The
catio of its arms is § ¢ 121 13, The area of this

field 8

(@) 9320 sq. meter
(b) 9450 sq. meter
(¢) 9560 sq. meter
(d) 9720 sq. meter

In a secret code message ‘HOTEL' is coded as
300. What will be the code for ‘HOSTEL' ?

(a) 374 (b) 474

(c) 558 (d) 360

What is correct order of writing a press
release ?

1. What happened ?

2. Who did it ?

3. Headline

4. When did it happen ?

Using the code given below, choose the
correct alternative. :

(a) 2314
(b) 3412
(c) 1324
(d) 3142

Which approach of decision making involves
solving a problem using traditional means ?
(a) Scientific approach

(b) Quantitative approach

(c) Routine approach

(d) Creative approach

n,

-15-

12

13

74.
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wak B s e ol S40 iz oo )
LRIERTE R R PR RE RECE (AL
&1 8 7

() 9320 af ez

(b) 9450 art e

(c) 9560 =t

(d) 9720 a1 oz

T T s gam i ‘HOTEL' #1 300 % ®9
% FifEa fba s 8 | ‘HOSTEL' #1 %18 #1
g 7
(a) 374
(c) 558

(b) 474
(d) 360

g e e el w2 7
1.7=R1T§3TF?

2. I8 TFm e ¢

3. ¥i¥eh

4. T8 e §I;AT ?

1 R o E 1 I s W e
1 T HINT |

(a) 2314

(b) 3412

() 1324

d) 3142

A
ﬁﬁuéﬁ%mmﬁmmuﬁmm
05 G F & B e R 7

(a) A ITH

ymw

(c) Trafi 3urm

(d) TETH I
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75. Rajan is brother of Sachin and Manak is father

76.

y i A

of Rajan. Jagat is brother of Priya and Priya is

daughter of Sachin. Then who is the uncle of
Jagat ?

(a) Rajan
(b) Manak
(¢) Sachin
(d) None of these

1
If x= , then value of 4x> — 22 — i
\/5+1 X —2X"—8x+5is

* (a) 0

(b) -1
(c) -2
d) 2

Which one of the following valid conclusion
can be derived from the following premises ?

Premises : 1. All scientists are graduates.

2. No supervisors are graduates.
Conclusion :

(a) All supervisors are scientists
(b) All graduates are scientists
(c) No supervisors are scientists

(d) No graduates are supervisors

78. If the compound interest on a sum for 2 years

at 12 l% per annum is X 340, then the simple
interegt on the same sum at the same rate for
the same period of time is

(a) 330

(b) ¥ 320

(©) T 310
d) % 335

g #1918 B AR AW, [ R
5. T, W
: %lmvmw“ﬁ%mm'“&‘“‘ﬁ'@?}%

Wﬁwm%?

1
1
!

%

|
1
1
|
1

%

(a) T %%/{\
(b)ﬂFﬁ‘o
) |fed
(@ v 3 HE
1

6 qﬁp_ﬁ—ﬁ,aﬂx ~2x°-8x +5
%1 A 8
(@ 0
(b) -1
(c) -2
@) 2

77. Freferfan smumER & AR R P
FH-w1 Tk 9y s e S gear ® 7
s : 1. @ft s s

2. FI GHATE E1a T8 8 |

ey
(a) oft gueamgsr A #
(b) &+t = Sshe & \_
(c)ﬂﬁimmaﬁrﬁmﬂﬁf?“(
(d)iﬁ\émmwﬂﬁ%\/

13,

Hﬁ@uﬁlwzaﬁn}z_%mﬁam

Thdie M X 340 3, T I A wor oy 7

3t Ity & e gem s =0 g 7
(a) ¥ 330
(b) T 320

() T310
(d) 335
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9.

80.

81.

82.

ke

In decision making quality of choices are

influenced by
(a) Intelligence
(b) Abstraction
(c) Mental set
(d) Perception

A circle touches all four sides of a quadrilateral
ABCD whose sides are AB = 8 cm, CD = 9cm
and BC =7 cm. The length of side AD (in cm) is

(a) 11
(c) 8

(b) 10
d) 12

The number of parallelograms in the adjoining
figure is

/NN

(a) 15 (b) 14
l\(})&I?a (d) 16

The background signals, distortions and

distraction during communication are known as
(a) Receiver
(b) Feedback
(c) Noise

(d) Loudness

PCUX-2 -22

79. vt 3% 2 et < v s €A &
(a) %5 &

(b) e &

(c) e fomma &

(d) sreaafieta A

@%,WABCDE&Mngﬁa&
et e 2, R ¥l AB = 8 8,
CD = 9t 3 BC =7 3t ¥ | Y51 AD I

80.

wrers (S ) B
(@) 11 (b) 10
(c) 8 @ 12

81, W STHRT H TR TS B e

JAVAVAN

(a) 15
() 13

(b) 14
(d) 16

82. HaT % < Yeav wabi, ferpfe o g
%1 A1 ST 8

(a) STeaRAl
(b) wfegfee
(c) IR

(d) F &

17-



83. Find the missing number in the following series.

Ay A
@ ¥y ® o/
(c) ‘% @) %3

A person buys 4 horses and 9 cows for T13,400.
If he sells the horses at 10% profit and cows
at 20% profit, then he carns a total profit of
T 1,880, What is the cost of a cow ?

(a) TO00

(b) T 600

(c) V400

(d) None of the above

85. Which of the following s NOT 2 fosture of

group decision making 7
(a) Consensus among all the membens

(b) Active imteraction botwoen group

members

{¢) Joint responsitality for the docision

(d) One head 1 hotier than two

-

2 i ] 1
86. The LCM. of x™ =y", & =)

and x* - Xy -xy Y s

(@) &+ )=y 07 Y +xy)
(B) (x4 P x-Y) O+ +3Y)
© (a+y)F (x-y°

5 9
(@ x+Vx-y) X" +y-xy)

B4.

BS.

@ %o d %0 5“
i
(c) 1% @ %3 3}2

@ﬁ4qﬁ1{é9ﬂl‘ﬂﬁfl3,400ﬁm%
3 | af @r G A 10% T M B 20% ™
e B, @) IEH T TN X880 1 vH
Hfmawn k7 ;
(a) THO i
(b) T 600

{c) T400

(d,miﬂﬂim

fnafefign @ 2 #a-m vw wp fofa 6 o
fren =f R 7 L
() wnd woat & e wenfa (ulhe)

(b) wxr & v & @ ofsa sdvafen

(c) foddu & fory vigea Facitery
idy v wfors 2 @ wew ¥

R g S N xy + v
A wemEe §

@ @+ x -y 6+ v +xy)

®) (x+y) (x=-y) O 4y +xy)

© (x+y) (x- y)z

(d) (x+y) (x-y)z (12 + ¥~ X¥)

88.

PeTe T LTy

o emianie alelo R L S S ey
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87. Ifunder some rule 53411s transformed to 4086

88.

89.

90.

and 4772 is transformed to 5265, then 7614 will
be transformed to

(a) 7038

(b) 6174

(c) 4238

(d) 8645

Arrange the following words in meaningful
logical order.

1. Never

2. Sometimes
3. Generally
4. Seldom

5. Always
(8) 5,2,4,3. 1
(b) 5,3,4,2,1
(&) 5,2, 1,34
d) 5,3,2,4,1

Decision making occurs as a recreation to
(a) Problem

(b) Mood

(c) Solution

(d) Communication

If the radius of a sphere is increased by

2 cm, its surface area is increased by 352 cm?.
22
What is the radius of the sphere ? [n = —7—]

(a) 8 cm
(b) 7cm
(c) 6cm
(d) 4 cm

-19-

87.

88.

89.

90.

PCUX-2 - 22

afe fedt Fom % siata 5341, 4086 @ ufafdd
a°t 4772, 5265 @ uftafda fean s 2, 99 7614
yfafda gm

(a) 7038

(b) 6174

(c) 4238

(d) 8645

frfafaa wed w1 arefql afehes s o saedd
HfT |

1. =t 7

2. &aifa

3. 9H=Id:

4, -t

5. W

(2) 3,2,4,3,1
(b) 5,3,4,2,1
©) 52, 1,3,4
(d 5,3,2,4,1

Fiofa o wfseen & &9 ° g1 8
(a) 9T 6
(b) TG i
(c) quIYH H
(d) E3or <6t

Ife foredt et A B 2 Ot s & ot @, @
3% % 1 Su%d 352 A 9% W R |

fbsnwng? (n=2)
(a) 8 Tt 4
(b) 78t

(c) 68t

(d) 43
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93.

95.

Thee gisphical ieohimigues thist (an be waid 1o
TepeveL sommihad e sy

(&} Marogram and b chan

i) ha chant and ogive

i) har chant and pwe chan

WY hstogram and ogive

A endency o fixate on initial mformation is
called

(&) Confirmation bias
() Anchoring bias

(€} Overconfidence bias
(@) Availability bias

Which one of the following is NOT a skill of
inierpersonal interaction ?

(a) Courtesy

(b) Empathy

(¢) Positive thinking

(d) Administrative power

The sum of deviations of a set of observations
Xps Xgs coeny X measured from 50 is -10 and
the sum of deviations from 46 is 70, then the
number of observations is

(a) 30
(b) 20
(c) 10
(d) 40

Complete the sequence with the correct option
from the following alternatives.

HOTEL : 12:: FILM : ?
(a) 16 (b) 14
(c) 10 (d) 18

1};

93.

94.

03

AP
®

PCUN2 ll

& Py ol @ wikfon emyl & mm
® B ot o) @ el 3

(&) W By oy oy fiyy
() 2 By oM e

(¢ 22 Py e od P
() nn Far il i

REPRRE PR FC s SCS A

wiifir s o FO o) 8 gt st
{a) Wi qatun

(b) uwftn qatue

(c) aifa- yreifirramn qalye

(d) Fversum gatur

ffafiga o @ M- vw yadafes wrots
form &1 u& Bwa TH R

(a) Rmeram

(b) weyfe

(c) YIS W
(d) wemafyes wfe

3
i
4

ﬁmﬁ'&?mx » Koy e K 50 R B
ﬁaaﬁaﬂﬁﬂ—lﬂﬂaﬁt%%ﬁﬂm%aq
&1 T 70 R, 79 Jaw ) wwm R

(a) 30
(b) 20
(c) 10
(d) 40

ﬁt{%ft«mﬁaﬁq‘iﬁﬂw&mmmﬁ
o il |

HOTEL: 12:: FILM : ?
(@) 16 (b) 14
() 10 (d) 18
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96. Number of prime factors [l) x 85 x (Z] is | 96. [‘6‘] x 8% x (Z) 3 Y PGS A HE &
6

(a) 37 (b) 36 (a) 37 (b) 36

(c) 33 (d) 52 (c) 33 (d) 52
97. Which communication has an emotional 97. forg §uR & UF yrgATeH® i 2 7

appeal ? A

(Z;J G QIR

roup communication
b) =adieis d

(b) Interpersonal communication (®) _ Il

(c) Mass communication (c) SF ®ER

(d) Intrapersonal communication (d) 3a:3afFas GO
98. If 13™ August, 2017 is Thursday, then what day 98. afe 13 30T, 2017 ) JEEAfTaR &, qr 27 3T,

of the week would be 27" August, 2023 ? 2023 T g F1 a1 A 8 ?

(a) Saturday (b) Friday (a) IFER (b) IFHEAR

(c) Thursday (d) Sunday (c) geeafaan (d) team
99 Numbers of triangles in the following figureis | 99. frerferfiga st # Fga e 2

S
) 24 (b) 22 (a) 24 ) 2

(c) 18 (d) 26 (c) 18 (d) 26 2
100. In a letter series 100. vt #oft &

a__bb_a__bbaacc__2a a__bb_a__bbaacc__a,

the missing letters in the proper order are & HE H g9 ol &

(a) ccacchb (b) bbaccbb (a) ccaccbb (b) bbaccbb

(c) cbaccbb (d) bcabcbb (c) cbaccbb (d) bcabcbb
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